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SUBJECT: SCIENCE
	Q.No.
	VALUE POINT
	MARKS

	1
	c. Cholera               
	1

	2
	b. Brittleness     
	1

	3
	b.Chloroplast

	1

	4
	c. Atmospheric   pressure    
	1

	5
	b. More frictional force
	1

	6
	c. A man
	1

	7
	d. Seismic waves
	1

	8
	c. Moon
	1

	9
	d. Nitrogen
	1

	10
	 c. Carbon monoxide     
	1

	11
	Pressure
	1

	12
	Organ
	1

	13
	Mercury
	1

	14
	Penicillin
	1

	15
	Boric powder
	1

	16
	1.Weak zone-------------- c. fault zone

2.Day light bird---------- a. kite, eagle

3.Shape of aeroplane---- b. Bird

4.Magnet------------------- e. non-contact force

5.Phosphorus-------------- d. kept in water
	1+1+1+1+1=5

	17
	a)The chemicals which are used to check the growth of microorganisms are called preservative.

b)(i) malaria

(ii) dengue
	1+1+1=3

	18
	These animals undergo external fertilisation ,lay eggs all the, all the eggs do not get fertilised and hence do not develop into new frog and fish because  of the following reasons (i) eggs and sperms are eaten up by other animals which live in water(ii) eggs & sperms are carried away by water.

Or

Budding- In this case of asexual reproduction, the organism, like hydra, develops a bulge called bud. This  bud  develops into an adult hydra which when gets separated from the parent hydra leads independent life./ Diagram
	3
2+1=3

	19
	i) Cloning is the production of an exact copy of an animal by means of asexual reproduction.

ii) Yes(only one gamete)

iii)Dolly


	1+1+1=3

	20
	i)Nucleus-It is spherical structure situated in the centre of the cell. It contains genetic materials. It also contains the thread like structure called Chromosomes. Nucleus controls the various functions of the cell.

(ii)Cytoplasm:-It is a jelly like substance which is present between nucleus and cell membrane. Various organelles  are present in the cytoplasm.


	1 ½ +1 ½ =3

	21
	1.Formation of  bubbles of gas on the electrodes 

2.Deposites of metal on electrodes

3.Changes of colour of solutions
	1+1+1=3

	22
	a) Pole star at the central position of the umbrella

b) because it exists on the pole of the earth.

c) It does not move as other stars move.
	1+1+1=3

	23
	a.(i)Membrane

ii)String

iii)Air column

iv)Air column

b. Larynx
	1+1+1+1+1=5

	24
	a)Diagram

b)Eight

Mercury, Venus , Earth, Mars ,Saturn, Jupiter ,Uranus, Neptune 


	2+3=5

	25
	a)It is due to the different frequencies caused by the different lengths of their vocal cords that the voices of men, women ,& children are different.

b)Frequency


	2+1=3

	26
	(1)By making the surfaces smooth by polishing.

(2) By applying lubricants

(3)By using wheels
	1+1+1=3

	27
	a). Metal--Hardness, malleability, ductility

b) Non-metal—soft ,  non- malleable, non -malleable

(i)chlorine

(ii)Oxygen
	3+1+5

	28
	a)The force by which earth or any other object attracts objects towards itself is called the gravitational force.

b)Non-contact force

i)A porter or man carries heavy loads.

ii) The porter place a round piece of cloth on his head to increase the area of contact of the load with his head. So the pressure on his head is reduced.
	1+1+1+2=5

	29
	a)Constellations

b)Ursa Major, Great Bear

c)No

d)Pole star

e)Seven
	1+1+1+1+1=5

	30
	To electroplate a key

1.Make copper sulphate solution in a beaker.

2.Connect a clean iron key to the negative terminal of a battery through a switch.

3. Connect a copper plate to the positive terminal of the battery.

4.Dip the key & plate in the beaker.

5.Pass the current in the circuit in the circuit for several minutes.

We observe that copper plate has dissolved  alittle & the iron key has got a reddish layer of copper metal all over the surface. Copper sulphate remains unchanged.
	5

	31
	a) Iris adjusts the size of pupil.

b) Eye lens allow light to pass through them.

c) Image formation.

d) Carries the image formed on retina to the brain.

e) Ciliary Muscles hold the lens & make it thin or thick according to the need of the eye.
	1+1+1+1+1=5

	32
	a) Bulge in the rubber sheet also increases.

b) Yes 

c) In fig: 1 -Liquid exert pressure on the bottom of glass tube. In fig: 2-Liquid exerts pressure on the walls of bottle 

d) Yes
	1+1+2+1=5


